Bl AuToTEC QUICK-CHANGE"

Master plate
(QC-10B-M-K20A)

*1%51‘7]7ﬂf

%51 A] ¢k Ho &2+ W4 (lock without touching)
F & A of] QlojA] mpAE E 2 o] E(Master Plate) 2t & 2 2 ©] E(Tool Plate) & -
237 1 o] gl BALZ AA 24T Fr -

J2

of o ¢}2]

c Ol THHAE
(Master Plate) 2} & =l ©] E(Tool Plate) 7}
%= 71 A4 B (A8 A 7]e) S A AL

A% FAAA (32 e A)
] # Y < (fail-safe locking mechanism)

BLALS) S % A/ A AU S S
o2 e Ee o] £

-

Tool plate
(QC-10B-T-K20A)
e

Master plate Attachments

+4 bolts (M3X25)

+1 locating pin

l %Seal plate, O-ring and screws
are pre-assembled.
It EE(EAR S 98N (10kg) | K10A HI|ME 3AX10 (SEEHRY
- = [
AR T Y= +0.0lmm = | K20A Max3A DC50V 3AX20 (HHEX)
525§ HlE | Bending direction (Tx. Ty) | 49Nm (500kgf * cm) = | K10L Probe contact 3AX10 (BIEM 1m)
Twisting direction (Tz) | 68.6N*m (700kgf * cm) K20L 3AX20 (F1=4 1m)

HZZ (3712 0.49 MPaA|) x1

970.8N (99kgf)

HE Master plate AHQIEA
Tool plate U205 &3 (AL 7|78 AR A 5Y)
QI3 XI5 (MIZ Al) ©50x H38.5mm
HEEY (2HF) Master plate 2459
Tool plate 859
ez Wl ALY & Ball-locking mechanism
EERiSE] 0.39~0.68MPa (4~7kgf/cm?)
SI8R2% - S 0~50C. 35~90% (ZZEQIS)
FE2E J7|LHE M5x6

Qc-10B

Option

( )
-M- [

(Option)
Tool plate QC-10B -T- DDDD
XXXA | ®71Ms ols
K10A H71A4S 3AX10 (HHEX)
K20A | T7|AS 3AX20 (SHEHR)
K10L H7141S 3Ax10 (RIEA 1m)
K20L | #71413 3A%20 (=4 1m)

QC-10A8 T7|4& HH=32 QC-10B2t Z&7HSELCH
FE A MM HHSO| ool AISH FAI7| B

" Lock
pneumatic port M3

¢3HT Dp5 PCD40

Interface plate for robat flauge\

Robot flange

4x¢3. 5 PCDAO

4 idistant Interface plate
_4 equidistant

(Note ) 24 (furnished by user )

Utility pneumatic ports BXM5

A

|”| ”l.IJ'J'[\l\BoIt holes
T T

p45HT
If optional electrical signal contact blocks are attached,
cut the interface plate 24mm from the center

' Unlock (Note )

pneumatic port M3

J1o8uey)

100, dSrjewoiny

~ - :
=™ to prevent the block from contacting with interface plate,
- Bolt holes location A(mm) Use of seal plate
443 (holes for seal plate) Qutside the O-ring¥ ¢35 2. 550 1 Unnecessary
Inside the O-ring% ¢30
Above the O-Tingk 930~935 & 5401 Necessary
r#ﬂ Seal plate
L : T (preassembled before shipment )
950 I 10k
" o %635
#4517 "~ . O-ring
#9630
I 1 ( AS568#026 )
T T @ o i 1
®© ® Cal N @{
! €
. <
One alignment slot ‘I - m %:
O \D = b Master plate
— N (QC—10B-M=KT10A )
1 A /A | =1
o 4 © 0
I \
450 Electrical signal contact blacks T
3JAX1(0 contacts ( solder terminal ) o =
36 Tool plate
— M (QC-10B-T-K10A ) -
000 2 5
® 33888 ¢ =2
) I N R
J7 9 9BHT DpB PCDAO 100]
. N 00kg
2 [ |
E \§z / it
. \ 46 Dp8 PCD40 =
4 equidistant @Four balts (M3x25mm) and one locating pin (MSY3-15) o
¢75H8 Dpb are supplied with the Master plate, e 2
( Model:QC—10B-K104 ) @The four bolts extend 7 Tmm above the Master plate ( when seal plate attached ).
300kg
m':'l'.- .
o L
. B e
K10A K20A K10L K20L _
| 3AX10E I THX (solder terminal) | 3AX20E I THXL (solder terminal) | 3AX10T 1m 2|=M (with 1m lead wires) | 3AX20 Im B =4 (with 1m lead wires)

0

2t=E
a5

A

o

S0 tHohM = FAL 22IE 5t FHAIL.

it

*1

Y

EEELN

i
e

ez

iy

L)

rir
oot

of
B

L

[l

.

22

ot S 0l0iE SEdt7U S22 A5t 7|720] £4=X| 2h= 2 Quick Changero] ZEH0| RX|IELICE



G QUICK-CHANGE®

NEW!

Robot Interface Plate

D QUICK-CHANGE®

4xM5IR)L MR
. - ~
for e 2% @5 HTE 2x%|\/|£gﬁ)bl~ﬁﬁ/\ 5 HIR10 4B
2% 4 holos #5H7 Dp10 4 holes for
2x P 5H7 through oles Tor M5 hex socket bolt

2 equidistant

207, 25° M5 hex socket bolt
4 equidistant

@45 H7®10.5
©45H7 Dp10.5

4 equidistant

@49
™ @72
10
2 o
Master plate 05 % 0 N
(QC-10B-M-K20A) 0 o H L| 0)
' 2 d ok »
3itich
St
Load capacity (rated load) 98N (10kg)
Positional repeatability %1 +0.01mm @50
Allowable ‘ Bending direction (Tx.Ty) | 49N-m (500kgf + cm) ?50
dynamic moment ‘ Twisting direction (Tz) | 68.6N-m (700kgf + cm)
Coupling force (with air pressure of 049MPa) %2 970.8N (99kgf)
Materials ‘ Master plate Stainless steel
. ‘ Tool plate Aluminum alloy (The lock/unlock mechanism s stainless steel)
Overall dimension (when coupled) @®50XH38.5mm
“APi03 AP104
. Tool plate (Main dody) | Tool plate 859
. (QC-108-T-K20A) Self-separating mechanism Ball-locking mechanism BxMATIL MR
Required air pressure 0.39~0.68MPa (4~7kgf/cm?) x4 HIE 8%&5 \) N IxM5R)L HE_HT'\
Allowable temprature and humidity ranges 0~50°C. 35~90% (Non-condensing) 2%R 8 holes for 8FBL T AT
Utilities | Pneumatic ports M5x6 gx@{l;?tthr;)ugh 2250 M4 hex socket bolt 7 holes for
equidistan s 8 equidistant M5 hex socket bolt @5 HTE10

8 equidistant
7 locations

®5H7 D

10

62 HT3E8
®62H7 Dp8
949
269 )
& - 0.5
0?_4(&)0 05 @ °'_%° @ ©
Type AP101 AP102 AP103 AP104 0 &"J ; g 4 F*J 9 -
PCD 315 60 56 315 #50
Bolt size M5 M5 M4 M5 50
Hole for locating pin 2X ¢ 5H7 ¢ 5H7 2X ¢p4H7 d5H7
ese dhe 6 12h7 b45H7 b62H7 6 20h7 Xglr; jln;r:!g?gré?;\?;;:iglzé?ar;d1 23(())3 on robots and AP104 on master plate,
Boss Height or Depth Height 3mm Depth 10.5mm Depth 8mm Height 3mm
Accessories M5X10 (4 pcs) M5X15 (4 pcs) M5X10 (4 pcs) M5X10 (7 pcs)
(Bolts and pin) MSY5-15 (1 pc) MSY5-15 (1 pc) MSY4-15 (1 pc) MSY5-15 (1 pc)
mo BANDO GROUP 3-17, Mei dori, 3-ch H ku, Kobe, 652-0883, J
WEight 799 ( Bolts 7pCS) -1/, Melwa-aori, 3-chome, Ayogo-Ku, Kobe, = , Japan
. . 71 68 130 ¢ \ -78-682- -78-682-
(Including bolts and pins) 9 g 9 689 (Bolts 7pcs) .BI-‘ BI_ AU TOTEC' LT D. -{JEIL_:J;?t:):;av?\?v.zbfg}titeiéﬁjgs1 78-682-2614

G Bl. AUTOTEC,LTD




